Sr

Questions

In 2005-06, the percentage of total investment to GDP was:

The per capita income was $742 in 2004-05 but in 2005-06, rose to:

The share of agriculture in the national economy in 2005-06, was:

During 2005-06, the construction sector contributed 9.2 percent to GNP and the share of
fishing was:

What was the share of livestock to the GNP during 2005-06?

Answers Choice

A. 8 percent
B. 10percent
C. 15percent
D. 20percent

A $795
B. $ 847
C.$ 880
D. $900

A. 21.6percent
B. 16.2percent
C. 12.8percent’
D. 13.4percent

A. 9.2percent
B. 4.4percent
C. 1.9percent
D. -3.6percent

A. 4.7percent
B. 6.5percent
C. 3.5percent
D. 8.0percent



